In reference to the following image:

http://orsm.net/php/showme.php?file=/images/random_shite746.gif
So, here’s my explanation:

You have a 8 x 8 square, as shown in the picture.  Then you take the top three squares and turn them into two 3 x 8 triangles, then you turn the bottom 5 x 8 squares into two sections, each a 5 x 5 x 3 section, as shown (not to scale)



Now, they take the pieces and rearrange them into two identical pieces, each a basic triangle of 5 x 13.  However, here is where everything starts to fall apart.  When the two pieces are put together (one triangle of 5 x 3 and one of 5 x 5 x 3, the ends match up perfectly in size, but not in angle.  If we look at things closer, we see what happens.




The angles are not the same (distorted to show difference).  Therefore we can’t “create” a continuous triangle of 13 x 5.  We can break up the leftmost section to figure out the angle.



We know the lengths of the legs of the triangles (2 and 5), and using trig, we can find the angle for this section to be tan-1 (5/2) = 68.20°.  For the 8 x 3 triangle, the angle we are looking for is ta n-1 (8/3) = 69.44°.  This may not seem significant, but it will be.  When we try to sandwich the two pieces together as shown, we have a problem, which is a gap between them.


This is where we lose the one unit (exaggerated to see difference).  We end up with a parallelogram with angles of 1.24 degrees and 178.76 degrees.  Using Pythagorean theorem, we find the sides to be (22 + 52)1/2 = 5.385 and (32 + 82)1/2 = 8.544. 



If we drop a vertical, we find the height to be sin (1.24) = height/5.385.  Height = .1165.  Area of Parallelogram = base x altitude = .1165 x 8.544 = 1.0

There’s where we “created” our one unit.  It looks good from a distance with the gap very small, but when you look at it, it flat doesn’t work.

64 does not equal 65.  64 plus an extra “created” unit equals 65.

Just my take on it,
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